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Given x = 2 (mod 36) and x = 14 (mod 48), and since 36 = 22 x 32 and 48 = 2* x 3,the divisors of 36 (a) and the
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divisors of 48 (b) that are coprime are a = 3% and b = 2*, Therefore, x = 2 (mod 36) satisfies x =2 (mod 9), and x =
14 (mod 48) satisfies x = 14 (mod 16), where GCD (9, 16) = 1. According to the Chinese Remainder Theorem,
the solution to x = 2 (mod 9) and x = 14 (mod 16) is in the form of x = p (mod 9 x 16), where p is a multiple of 16

and leaves a remainder of 2 when divided by 9 (128), and a multiple of 9 and leaves a remainder of 14 when divided

by 16 (270). Adding these, 128 + 270 = 398, and subtracting 9 X 16 =

110. Thus, the solution is x = 110 (mod 144).

144 sequentially from 398 gives 254 and
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